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‘1. Answer the followmg questions (within 50 words A
each) : 2x4=8

(8) What is absolufe and relative poverty ?

(b) Differentiate Sgryctyral unemployment from
Voluntary unemployment.

(c) What is ‘Hindy Growth rate’:
(d) What do you mean by Black swan event ?

[Turn over



2. Answer the following questiong (within 150 |

_words each) ‘ 5x4-20
(a) Write a note on License Raj, .

(b) Explain the positive impacts of WO on
Indian Economy.

() How would you say that the rate of growth
in the Indian €conomy hag been relatively
slow ? Also, sugges? measures to aecelerate
the rate of growth in the Indian economy.

(d) Write in brief on ‘Minimym Support Price’.

3. Answer any two of the fOHOWing questions :

10x2=20

(a) Explain the objectives and salient fo of
Industrial Policy, 1948.and 1956 :rt;uflfere
any difference in the two policies 9

7+3=10

(b) Explain in brief the Land tepyre system in
India. Why has the land tenyre system got
its important  for the devel'c)pment of

Agriculture 7 _ 4+6=10

(c) Analyze the impact of Covid 19 on Indian
Economy. : ; 10

(d) What are the reasons of growing inequality
among people in India? Suggest some
measures to reduce the inequality. 5+5=10
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4, Answer the ‘following questions :

16x2=32
(a) Brleﬂy explain the tl'elld of gl'OW’th and

change in the composition of National _

Income of India. 20

Or )

(b) Explain the role of agriculture in Indian
Economy. Also analyze the fa-ctors respons@e

for low productivity in agriculture. .Outhne
some measures undertaken (0 Traise the
agricultural productivity- 6+5+5=16

(¢) What are the features of Self-reliant India?
Explain its importance, achievements and
challenges, 6+10=16

Or

(d) What are the characteristics of Small-scale
industries ? Explain its r0l€ and performance
in the development of Indian economy.

6+10=16 .
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